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*—RAH (EFH—AR)

FEH-FH-ER HREE ZREN
AR R 178 171 35 49 220
BYFER 169 167 29 58 233
RIFED RIREEH EERBELTEY 214 210 22 95 241
BE.-FHLU2R 191 189 11 17.2 247
IRESF 275 273 95 29 212
REFER &t 1027 1010 192 5.3 -
X=FH 1048 1024 172 60 233
EFRFED 855 827 67 123 243
BEFER 246 241 100 24 209
K= S5 3176 3102 531 58 -

*—MRAK (2A BRE., L2 —6A)

FE-FR-ER GREE R ZEREH
IR R 67 60 19 32 194
B BYSEER 86 73 19 38 207
R LR BUREEH SEFEETHR 119 100 26 38 214
BE-FHAU¥EER 129 122 10 122 227
B g eag 121 110 49 22 182
REFEER &t 522 465 123 3.8 -
SCEER 447 411 103 40 210
—— 2A B | 307 281 41 69 212
o a— A 61 53 4 133 227
BEFE 188 171 39 44 192
XZ &it 1525 1381 310 45 -

*—fk A (3A BFE)

PH-F - HK

AR R 77 59 2 295 159

. . . BYEERER 20 17 3 57 149
RBFE BYREFR EEEELER 23 21 5 o | 161
IRESF 49 41 10 41 146

REFER & 169 138 18 7.7 -

X=FE 253 203 25 8.1 157

ERFER 294 229 6 382 168

BEFER 43 36 3 120 152

XZ it 759 606 52 11.7 -




* RFEAA L 2—FIAER(2ABE)

PR EI SREE
IR F 49 49 20 25 74%
s BYMFER 34 34 6 5.7 79%
_ BYEREFH N
R IFER EEEXETHER 49 49 10 4.9 81%
BE-THAUEH 66 66 4 165  84%
REZRR 122 122 45 2.7 72%
RBFE & 320 320 85 3.8 -
X=FE 506 506 142 3.6 76%
3% B 208 208 45 46 = 80%
E R ER
4% H 24 24 15 1.6 74%
FHEER 144 143 40 3.6 74%
KE &t 1202 1201 327 3.7 -

* RFEAA L 2—FIAER (A BRE)

FE-ERE-ER SRREH
_ WARF 10 10 4 25  82%
R FER

RE=H 9 9 2 45 85%

REFEER 5 19 19 6 3.2 -
XEZFER 33 33 3 110  82%
ERFER 26 26 1 260 = 85%

RE it 78 78 10 7.8 -




* NEHHEE AR
FER-FR-E

*EEETFLHEBAR
FE-2H-ER
AR FF 3 2 2
P— BYFER 2 2 2
RILFED EEXETER 2 2 2
BE-THIUER 2 2 2
REZH 3 3 3
REFEER &t 12 11 11
X=FEB 4 4 4
E R B 4 4 4
BEFE 1 1 1
XZ &it 21 20 20

* BREZEHEB AR




* FrARRAR (REFL -2 N)

SR AR %Eﬁ%ﬁjl?ﬁ:; BREY SEEN :%;; BiEEY
HARFF - - - - - -
e T e T
RBFEB EEXELTER 1 1 1 - - -
BE-THAUEH 1 1 1 - - -
IREZFH - - -
RBUFED & 2 2 2 - = =
X=FEB - - - - - -
EIFRZE B 1 1 1 - - -
BEFER 1 1 0
XZ it 3 3 3 1 1 0
*HEANBFERER
SR s ?@JEE%‘%; ;;:f%w ma%;;ﬁz:%%
AR R - - - 1 1 0
FEEEH AMEELH RITRE B O S L L
EEXETER - - - - - -
BE-THAU2H 1 0 0
REUFE &t 1 0 0 2 2 0
X=FE 1 1 0 11 11 4
ERFER 2 2 1 9 9 3
RZ At 4 3 1 22 22 7




* AO A

AR F EiE-/NEX(9A) 10 10 6
RR-E#EOA) 59 55 23
RBCFERR BE-TH/UFH ER-@E0AR) 16 15 10
ER-mEGAH) 12 11 4
REFH EE- /R (9R) 46 23 22 12
REUFE &t 143 23 113 55
HERN-EiEOR) 100 76 74 35

|
EQIQ(128) 54 50 21
ERE R ?i*%;(';gz)/ ' 25 25 21 20
XZ A&t 322 124 258 131
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